

6.5.1

$$\begin{aligned} (i) \quad d(x+z, y+z) &= \|(x+z) - (y+z)\| \\ &= \|x - y\| \\ &= d(x, y) \end{aligned}$$

$$\begin{aligned} (ii) \quad d(\lambda x, \lambda y) &= \|\lambda x - \lambda y\| \\ &= \|\lambda(x - y)\| \\ &= |\lambda| \|x - y\| \\ &= |\lambda| d(x, y) \end{aligned}$$

また、(i), (ii) より、 d は $\| \cdot \|$ と $\|x\| = d(0, x)$ と
 定数 $\| \cdot \|$ 一致する。

$$d(0, x) \geq 0 \quad \|x\| \geq 0$$

$$\|x\| = 0 \iff d(0, x) \iff x = 0$$

$$\|\lambda x\| = d(0, \lambda x) \stackrel{(ii)より}{=} |\lambda| d(0, x) = |\lambda| \|x\|$$

$$\|x+y\| = d(0, x+y)$$

$$= d(-x, y) \leftarrow (i)より$$

$$\leq d(-x, 0) + d(0, y)$$

$$= d(0, x) + d(0, y) \leftarrow (ii)より \quad ((i)より)$$

$$= \|x\| + \|y\|$$

(7.6.5) $\| \cdot \|$ は S 上の $\| \cdot \|$ と $\| \cdot \|$ は S 上の $\| \cdot \|$ と一致する。

距離関数 d は $d'(x, y) = \|x - y\|$

$$= d(0, x - y)$$

$$= d(y, x) \leftarrow (i)より$$

$$= d(x, y) \quad \text{証明}$$

これは d と一致する